AR 3( Skl

20226 AR KE AT V21—l

BE BRI K& SR -m | om |mms B2
K| 10:30 = EFOS=FvLUPT/M 1,600 | 1,700 3 |=_LtP soximz
K| 13:30 |BEHREYTI=FrLUST/M 1,600 (1,700 | 3 | Fa%s soxim
2 A|10:30 ZEFOS=ZFHYLUPT/M 1,600 | 1,700 3 |=_LtP soximz
2 | KR|13:30 =ZLTAI=FXLUPT/M 1,600 | 1,700 3 |=_LtP Boximz
3|2 13:30 BARSYTSI=FYLUST/M 1,600 1,700 | 3 |BA |soxmz
4 | £10:30 |G ELETILRAT/M 1,600 1,700 |2+1+1 BOXiH%
4|+ 18:00 BHEELZTLST/M 2,800 3,000 4 | FPH soxumz
5| B |10:30 |EIFH/T/M 47— LE 1,700 | 1,900 4 BOX %
5| B | 18:00 fEEISOLEITFLST/M 2,800 3,000 4 | FaIZEP Boxim®
6 | A |10:30 BETOI=FrLoPT/M 1,600 | 1,700 3 |FEZEP|BoximE
6 B 13:30 EHRAYII=ZFrLUTT/M 1,600 (1,700 | 3 | 4K Boximz
7| K| 10:30 | FHREYIZZFHLUTT/M 1,600 1,700 | 3 | FF#kK |soximz
7 N |13:30 BEIOI=ZFHLOIT/M 1,600 1,700 | 3 |FEIEP Boxm:E
8 | K| 10:30 [BARZYTI=F¥LUST/M 1,600 1,700 | 3 |;BA |soxumz
8 | /K | 13:30 |FEERAYII=FrLUST/M 1,600 (1,700 | 3 | P& soximz
9 | K |10:30 | =LFRASI=F¥L2PT/M 1,600 | 1,700 3 |=_LtP Boximz
9 K 1330 | =LTAS=F¥L2PT/M 1,600 1,700 3 | =_LP Boximz
10| & | 13:30 JEARAYII=FrLIT/M 1,600 1,700 3 |AA Boxim
+ 1 10:30 M ELATILAT/M 1,600 (1,700 (2+1+1 BOXi%
+ | 18:00 |FEHR AV IERIFELST/M 2,800 (3000 | 4 | P& soxmz
H | 10:30 |#RIFTIFT/M 47 —LE 1,700 | 1,900 4 BOX %
H | 18:00 RA—ZA4 9K 2IILAHYTT/M 3,100 |3,300 4 BOX#h®
A 10:30 | FRETOS=FrLUST/M 1,600 1,700 | 3 |FEZFEP Boxim:
B | 13:30 | FHRRYIZI=F LU ST/M 1,600 1,700 | 3 | F#K |soximz
N 110:30 = LTOS=FvLUPT/M 1,600 | 1,700 3 | =_tP|soxz
N 13:30 FBEIOS=FrLOIT/M 1,600 (1,700 | 3 |FEZEEP|soxmz
7K | 10:30 [BEARZYIZ=FHLUIT/M 1,600 (1,700 | 3 |JBA Boxm#
JK | 13:30 BEHERAYIIZFHLUOT/M 1,600 (1,700 | 3 | FB%&s |soxmz
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BE BRI K& SR -m | om |mms B2
A 11030 =ZETOS=ZF¥LUPT/M 1,600 | 1,700 3 |=_LtP soximz
A 11330 =ZLFAS=FrL2PT/M 1,600 1,700 3 | =_LEP|soximz
£ | 13:30 [EARSYTI=ZFrLUTT/M 1,600 (1,700 | 3 |;HA soxims
+ 1 10:30 M ELATILAT/M 1,600 1,700 |2+1+1 BOXii%
+ 1 18:00 =LEETORELIT/M 2,800 | 3,000 4 |=_EP Box®
H | 10:30 |[\&BIFR/T/M 47— LE 1,700 | 1,900 4 BOX %
H | 18:00 |FRETOLRIFLSIT/M 2,800 3,000 4 FaZEP Boxim®
B | 10:30 fRETAI=FrL2PT/M 1,600 | 1,700 3 |FEZEP|BoximE
B | 13:30 | EHRAYII=FALUST/M 1,600 1,700 | 3 | F#k soximz
JK | 10:30 [BARZYIIZFYLUST/M 1,600 1,700 | 3 |;BA |soxumz
JK | 13:30 | EBER Y II=ZF AL TT/M 1,600 (1,700 | 3 | P& soximz
A[113:30 ZEFOI=ZFYLUPT/M 1,600 | 1,700 3 |=_LtP Boximz
+ 1 10:30 HMELATILAT/M 1,600 1,700 (2+1+1 BOXii%
+ | 18:00 | FO&EIFEST/M 2,800 (3,000 | 4 | 7O |soximz
H | 10:30 |\RIFTIFT/M 47 —LE 1,700 | 1,900 4 BOX %
H | 18:00 | #T7ILAT/M 2800 3,000 | 3+2 |mwea=re|L-vihR
A 10:30 | fRESOI=FrLUST/M 1,600 1,700 | 3 |FEIEP Boxm:E
A | 13:30 FHRAYTI=ZFrLITT/M 1,600 (1,700 | 3 | FE#K soximz
N 110:30 = EFOI=FwLUTT/M 1,600 1,700 3 = _LP|BoximE
| 13:30 BETOI=FrLUST/M 1,600 1,700 | 3 |FEZFEP|Boxim
7K 1 10:30 JEARSYIZI=FvLIT/M 1,600 | 1,700 3 | JBA |soximg
K| 13:30 |[BHRFYIIZFYLUST/M 1,600 1,700 | 3 | P& |soximz
A 13:30 = EFAS=FvLUTT/M 1,600 1,700 3 = _LP|Boximz




